| Efficiency vs Dxy |
>.0.02r
<

il L !
+— i
© N i
o L
1_— ------------------------------------------------------------------------
L : oo

098 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0
[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

—— DQM_TT__mkFit-DQM_mod_updatedmod-127
N 0.05 : s :

9.045
)
.5 0.04
(&)
£9.035
()
0.03
0.025
0.02

0.015

0.01

0.005¢
.9 J_.QE 11 1 | : 11 1 1 ! 11 1 1 : 11 1 1 ; 11 1 1 : 11 1 |
s : : :
X LA oo FE i
]_E— ---------- ----------- n;mr 99 an ----------------------
0.9t 5 : 5
-30 -20 -10 10 20 30

TP dz (cm)



	Contents
	Page 1


